

Bid Comparison

Contract ID: F21624
Description: Battle Rd Bridge over the N. Branch of the Salt River
Location: Battle Road
Projects(s): ERFO DSR 5074-01

Rank	Bidder	Total Bid	% Over Low	% Over Est.
0	ENGINEER'S ESTIMATE	\$1,024,942.75	4.41%	0.00%
1	(02007) Miller Development, Inc.	\$981,626.60	0.00%	-4.22%
2	(08594) J. E. Kloote Contracting, Inc.	\$982,762.66	0.11%	-4.11%
3	(01501) Nashville Construction Company	\$995,053.23	1.36%	-2.91%
4	(01886) E.T. MacKenzie Company	\$1,049,265.58	6.89%	2.37%
5	(02946) Anlaan Corporation	\$1,269,175.58	29.29%	23.82%
6	(03134) Grand River Construction, Inc.	\$1,304,313.13	32.87%	27.25%

Line	Pay Item Code	Quantity	Units	(0) ENGINEER'S ESTIMATE		(1) Miller Development, Inc.		(2) J. E. Kloote Contracting, Inc.	
				Bid Price	Total	Bid Price	Total	Bid Price	Total
Category: 0001 Road Work									
0001	1500001	1	LSUM	\$93,000.00	\$93,000.00	\$93,000.00	\$93,000.00	\$93,000.00	\$93,000.00
	Mobilization, Max								
0002	2017002	12	Sta	\$1,000.00	\$12,000.00	\$500.00	\$6,000.00	\$600.00	\$7,200.00
	_ Clearing, Modified								
0003	2030001	4	Ea	\$350.00	\$1,400.00	\$400.00	\$1,600.00	\$350.00	\$1,400.00
	Culv, Rem, Less than 24 inch								
0004	2030015	45	Ft	\$15.00	\$675.00	\$8.00	\$360.00	\$25.00	\$1,125.00
	Sewer, Rem, Less than 24 inch								
0005	2030016	215	Ft	\$20.00	\$4,300.00	\$8.00	\$1,720.00	\$15.00	\$3,225.00
	Sewer, Rem, 24 inch to 48 inch								
0006	2040025	195	Ft	\$1.50	\$292.50	\$2.00	\$390.00	\$4.00	\$780.00
	Fence, Rem								
0007	2040080	20	Ft	\$50.00	\$1,000.00	\$15.00	\$300.00	\$5.00	\$100.00
	Exploratory Investigation, Vertical								
0008	2050010	750	Cyd	\$10.00	\$7,500.00	\$6.00	\$4,500.00	\$10.00	\$7,500.00
	Embankment, CIP								
0009	2050016	2,720	Cyd	\$10.00	\$27,200.00	\$9.00	\$24,480.00	\$7.00	\$19,040.00
	Excavation, Earth								
0010	2080012	110	Ft	\$20.00	\$2,200.00	\$30.00	\$3,300.00	\$25.00	\$2,750.00
	Erosion Control, Check Dam, Stone								
0011	2080020	7	Ea	\$150.00	\$1,050.00	\$150.00	\$1,050.00	\$100.00	\$700.00
	Erosion Control, Inlet Protection, Fabric Drop								
0012	2080036	2,350	Ft	\$3.00	\$7,050.00	\$1.50	\$3,525.00	\$1.50	\$3,525.00
	Erosion Control, Silt Fence								
0013	3010002	1,436	Cyd	\$17.00	\$24,412.00	\$16.00	\$22,976.00	\$17.00	\$24,412.00
	Subbase, CIP								
0014	3020001	1,461	Ton	\$20.00	\$29,220.00	\$18.00	\$26,298.00	\$18.00	\$26,298.00
	Aggregate Base								
0015	3060006	261	Ton	\$20.00	\$5,220.00	\$18.00	\$4,698.00	\$18.00	\$4,698.00
	Aggregate Surface Cse								

Line	Pay Item Code	Description	Quantity	Units	(0) ENGINEER'S ESTIMATE		(1) Miller Development, Inc.		(2) J. E. Kloote Contracting, Inc.	
					Bid Price	Total	Bid Price	Total	Bid Price	Total
Category: 0001 Road Work										
0016	3070026	Approach, CI II, 4 inch	580	Syd	\$15.00	\$8,700.00	\$6.00	\$3,480.00	\$5.00	\$2,900.00
0017	3070126	Shoulder, CI II, 4 inch	300	Syd	\$10.00	\$3,000.00	\$6.00	\$1,800.00	\$5.00	\$1,500.00
0018	4010012	Culv End Sect, 12 inch	3	Ea	\$350.00	\$1,050.00	\$200.00	\$600.00	\$250.00	\$750.00
0019	4010015	Culv End Sect, 15 inch	2	Ea	\$250.00	\$500.00	\$250.00	\$500.00	\$275.00	\$550.00
0020	4010024	Culv End Sect, 24 inch	3	Ea	\$650.00	\$1,950.00	\$400.00	\$1,200.00	\$600.00	\$1,800.00
0021	4010036	Culv End Sect, 36 inch	1	Ea	\$1,250.00	\$1,250.00	\$830.00	\$830.00	\$1,000.00	\$1,000.00
0022	4010607	Culv, CI F, 12 inch	36	Ft	\$30.00	\$1,080.00	\$35.00	\$1,260.00	\$35.00	\$1,260.00
0023	4010608	Culv, CI F, 15 inch	31	Ft	\$30.00	\$930.00	\$40.00	\$1,240.00	\$46.00	\$1,426.00
0024	4010610	Culv, CI F, 24 inch	145	Ft	\$45.00	\$6,525.00	\$45.00	\$6,525.00	\$51.00	\$7,395.00
0025	4020009	Sewer, CI A, 36 inch, Tr Det A	28	Ft	\$90.00	\$2,520.00	\$67.00	\$1,876.00	\$136.00	\$3,808.00
0026	4020033	Sewer, CI A, 12 inch, Tr Det B	521	Ft	\$50.00	\$26,050.00	\$42.00	\$21,882.00	\$50.00	\$26,050.00
0027	4020036	Sewer, CI A, 24 inch, Tr Det B	264	Ft	\$60.00	\$15,840.00	\$53.00	\$13,992.00	\$80.00	\$21,120.00
0028	4020157	Sewer, CI B, 30 inch, Tr Det A	144	Ft	\$65.00	\$9,360.00	\$67.00	\$9,648.00	\$105.00	\$15,120.00
0029	4021230	Sewer Bulkhead, 12 inch	1	Ea	\$225.00	\$225.00	\$200.00	\$200.00	\$200.00	\$200.00
0030	4030035	Dr Structure Cover, Type E	1	Ea	\$400.00	\$400.00	\$500.00	\$500.00	\$500.00	\$500.00

Line	Pay Item Code	Quantity	Units	(0) ENGINEER'S ESTIMATE		(1) Miller Development, Inc.		(2) J. E. Kloote Contracting, Inc.	
				Bid Price	Total	Bid Price	Total	Bid Price	Total
Description									
Category: 0001 Road Work									
0031	4030040	4	Ea	\$375.00	\$1,500.00	\$700.00	\$2,800.00	\$400.00	\$1,600.00
Dr Structure Cover, Type G									
0032	4030050	2	Ea	\$650.00	\$1,300.00	\$800.00	\$1,600.00	\$1,500.00	\$3,000.00
Dr Structure Cover, Type K									
0033	4030210	5	Ea	\$1,750.00	\$8,750.00	\$1,800.00	\$9,000.00	\$2,000.00	\$10,000.00
Dr Structure, 48 inch dia									
0034	4030220	1	Ea	\$3,000.00	\$3,000.00	\$4,000.00	\$4,000.00	\$8,000.00	\$8,000.00
Dr Structure, 60 inch dia									
0035	4030230	1	Ea	\$4,000.00	\$4,000.00	\$6,000.00	\$6,000.00	\$6,000.00	\$6,000.00
Dr Structure, 72 inch dia									
0036	4030250	2	Ft	\$100.00	\$200.00	\$300.00	\$600.00	\$150.00	\$300.00
Dr Structure, Add Depth of 48 inch dia, 8 foot to 15 foot									
0037	4030260	7	Ft	\$100.00	\$700.00	\$300.00	\$2,100.00	\$250.00	\$1,750.00
Dr Structure, Add Depth of 60 inch dia, 8 foot to 15 foot									
0038	4030261	2	Ft	\$150.00	\$300.00	\$800.00	\$1,600.00	\$250.00	\$500.00
Dr Structure, Add Depth of 60 inch dia, more than 15 foot									
0039	4040075	944	Ft	\$10.00	\$9,440.00	\$10.00	\$9,440.00	\$10.00	\$9,440.00
Underdrain, Subgrade, 8 inch									
0040	4040115	2	Ea	\$150.00	\$300.00	\$200.00	\$400.00	\$250.00	\$500.00
Underdrain, Outlet Ending, 8 inch									
0041	5010005	76	Syd	\$10.00	\$760.00	\$15.00	\$1,140.00	\$15.00	\$1,140.00
HMA Surface, Rem									
0042	5010033	578	Ton	\$110.00	\$63,580.00	\$98.00	\$56,644.00	\$90.00	\$52,020.00
HMA, 13A									
0043	5010061	90	Ton	\$150.00	\$13,500.00	\$98.00	\$8,820.00	\$90.00	\$8,100.00
HMA Approach									
0044	8020016	123	Ft	\$20.00	\$2,460.00	\$32.00	\$3,936.00	\$28.00	\$3,444.00
Curb and Gutter, Conc, Det B2									
0045	8020040	155	Ft	\$26.00	\$4,030.00	\$30.00	\$4,650.00	\$26.00	\$4,030.00
Curb and Gutter, Conc, Det F6									

Line	Pay Item Code	Quantity	Units	(0) ENGINEER'S ESTIMATE		(1) Miller Development, Inc.		(2) J. E. Kloote Contracting, Inc.	
				Bid Price	Total	Bid Price	Total	Bid Price	Total
Category: 0001 Road Work									
0046	8020056	2	Ea	\$500.00	\$1,000.00	\$500.00	\$1,000.00	\$600.00	\$1,200.00
	Shoulder Gutter, Conc, Det 2								
0047	8020075	6	Ft	\$50.00	\$300.00	\$85.00	\$510.00	\$55.00	\$330.00
	Spillway, Conc								
0048	8027001	139	Ft	\$50.00	\$6,950.00	\$55.00	\$7,645.00	\$50.00	\$6,950.00
	_ Curb and Gutter, Bridge Approach, Modified								
0049	8050010	229	Ft	\$2.00	\$458.00	\$2.00	\$458.00	\$1.50	\$343.50
	Curb Sloped, HMA								
0050	8070044	4	Ea	\$2,800.00	\$11,200.00	\$2,675.00	\$10,700.00	\$3,100.00	\$12,400.00
	Guardrail Approach Terminal, Type 2M								
0051	8070080	8	Ea	\$5.00	\$40.00	\$10.00	\$80.00	\$5.00	\$40.00
	Guardrail Reflector								
0052	8070095	3	Ea	\$100.00	\$300.00	\$150.00	\$450.00	\$250.00	\$750.00
	Post, Mailbox								
0053	8070130	4	Ea	\$2,000.00	\$8,000.00	\$2,000.00	\$8,000.00	\$2,400.00	\$9,600.00
	Guardrail Anch, Bridge, Det M1								
0054	8100371	30	Ft	\$6.00	\$180.00	\$9.00	\$270.00	\$10.00	\$300.00
	Post, Steel, 3 lb								
0055	8100403	4	Ea	\$10.00	\$40.00	\$50.00	\$200.00	\$50.00	\$200.00
	Sign, Type III, Rem								
0056	8100404	9	Sft	\$15.00	\$135.00	\$18.00	\$162.00	\$20.00	\$180.00
	Sign, Type IIIA								
0057	8100405	6	Sft	\$15.00	\$90.00	\$18.00	\$108.00	\$20.00	\$120.00
	Sign, Type IIIB								
0058	8110231	1,730	Ft	\$1.00	\$1,730.00	\$0.80	\$1,384.00	\$0.75	\$1,297.50
	Pavt Mrkg, Waterborne, 4 inch, White								
0059	8110232	1,730	Ft	\$1.00	\$1,730.00	\$0.80	\$1,384.00	\$0.75	\$1,297.50
	Pavt Mrkg, Waterborne, 4 inch, Yellow								
0060	8110251	1,730	Ft	\$1.00	\$1,730.00	\$0.50	\$865.00	\$0.40	\$692.00
	Pavt Mrkg, Waterborne, 2nd Application, 4 inch, White								

Line	Pay Item Code	Quantity	Units	(0) ENGINEER'S ESTIMATE		(1) Miller Development, Inc.		(2) J. E. Kloote Contracting, Inc.	
				Bid Price	Total	Bid Price	Total	Bid Price	Total
Category: 0001 Road Work									
0061	8110252	1,730	Ft	\$1.00	\$1,730.00	\$0.50	\$865.00	\$0.40	\$692.00
	Pavt Mrkg, Waterborne, 2nd Application, 4 inch, Yellow								
0062	8110307	416	Ft	\$1.00	\$416.00	\$0.01	\$4.16	\$1.00	\$416.00
	Rem Curing Compound, for Longit Mrkg, 4 inch								
0063	8120012	8	Ea	\$100.00	\$800.00	\$125.00	\$1,000.00	\$150.00	\$1,200.00
	Barricade, Type III, High Intensity, Double Sided, Lighted, Furn								
0064	8120013	8	Ea	\$20.00	\$160.00	\$10.00	\$80.00	\$50.00	\$400.00
	Barricade, Type III, High Intensity, Double Sided, Lighted, Oper								
0065	8120170	1	LSUM	\$10,000.00	\$10,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00
	Minor Traf Devices								
0066	8120350	289	Sft	\$6.00	\$1,734.00	\$4.00	\$1,156.00	\$4.00	\$1,156.00
	Sign, Type B, Temp, Prismatic, Furn								
0067	8120351	289	Sft	\$1.00	\$289.00	\$1.00	\$289.00	\$1.00	\$289.00
	Sign, Type B, Temp, Prismatic, Oper								
0068	8120352	25	Sft	\$7.00	\$175.00	\$5.00	\$125.00	\$5.00	\$125.00
	Sign, Type B, Temp, Prismatic, Spec, Furn								
0069	8120353	25	Sft	\$1.00	\$25.00	\$1.00	\$25.00	\$1.00	\$25.00
	Sign, Type B, Temp, Prismatic, Spec, Oper								
0070	8130010	28	Syd	\$60.00	\$1,680.00	\$100.00	\$2,800.00	\$65.00	\$1,820.00
	Riprap, Plain								
0071	8167011	1,840	Syd	\$6.00	\$11,040.00	\$5.00	\$9,200.00	\$6.00	\$11,040.00
	_ Slope Restoration, Modified								
Category 1 Totals:					\$471,651.50		\$426,220.16		\$448,819.50
Category: 0002 Structure Work									
0072	2030003	2	Ea	\$2,200.00	\$4,400.00	\$4,000.00	\$8,000.00	\$9,000.00	\$18,000.00
	Culv, Rem, Over 48 inch								
0073	2040045	25	Cyd	\$100.00	\$2,500.00	\$125.00	\$3,125.00	\$125.00	\$3,125.00
	Masonry and Conc Structure, Rem								

Line	Pay Item Code	Quantity	Units	(0) ENGINEER'S ESTIMATE		(1) Miller Development, Inc.		(2) J. E. Kloote Contracting, Inc.	
				Bid Price	Total	Bid Price	Total	Bid Price	Total
Category: 0002 Structure Work									
0074	2050015	440	Cyd	\$14.00	\$6,160.00	\$15.00	\$6,600.00	\$13.00	\$5,720.00
	Excavation, Channel								
0075	2060002	650	Cyd	\$20.00	\$13,000.00	\$20.00	\$13,000.00	\$24.00	\$15,600.00
	Backfill, Structure, CIP								
0076	2060010	994	Cyd	\$12.00	\$11,928.00	\$10.00	\$9,940.00	\$13.00	\$12,922.00
	Excavation, Fdn								
0077	2080014	2	Ea	\$250.00	\$500.00	\$150.00	\$300.00	\$300.00	\$600.00
	Erosion Control, Filter Bag								
0078	2080042	200	Ft	\$16.00	\$3,200.00	\$0.01	\$2.00	\$0.01	\$2.00
	Erosion Control, Turbidity Curtain, Deep								
0079	2080044	200	Ft	\$12.00	\$2,400.00	\$0.01	\$2.00	\$0.01	\$2.00
	Erosion Control, Turbidity Curtain, Shallow								
0080	4040031	260	Ft	\$6.00	\$1,560.00	\$6.00	\$1,560.00	\$6.00	\$1,560.00
	Underdrain, Fdn, 4 inch								
0081	4040091	40	Ft	\$10.00	\$400.00	\$10.00	\$400.00	\$10.00	\$400.00
	Underdrain Outlet, 4 inch								
0082	4040111	4	Ea	\$150.00	\$600.00	\$200.00	\$800.00	\$200.00	\$800.00
	Underdrain, Outlet Ending, 4 inch								
0083	6020208	32	Ft	\$10.00	\$320.00	\$15.00	\$480.00	\$15.00	\$480.00
	Joint, Expansion, E3								
0084	7040007	1	LSUM	\$35,000.00	\$35,000.00	\$35,000.00	\$35,000.00	\$50,000.00	\$50,000.00
	Cofferdams								
0085	7050002	1	LSUM	\$40,000.00	\$40,000.00	\$37,000.00	\$37,000.00	\$50,000.00	\$50,000.00
	Pile Driving Equipment, Furn								
0086	7050030	2,350	Ft	\$30.00	\$70,500.00	\$22.00	\$51,700.00	\$0.01	\$23.50
	Pile, Steel, Furn and Driven, 12 inch								
0087	7050031	2	Ea	\$1,000.00	\$2,000.00	\$1,000.00	\$2,000.00	\$1,500.00	\$3,000.00
	Test Pile, Steel, 12 inch								
0088	7050039	54	Ea	\$150.00	\$8,100.00	\$100.00	\$5,400.00	\$40.00	\$2,160.00
	Pile Point, Steel								

Line	Pay Item Code	Quantity	Units	(0) ENGINEER'S ESTIMATE		(1) Miller Development, Inc.		(2) J. E. Kloote Contracting, Inc.	
				Bid Price	Total	Bid Price	Total	Bid Price	Total
Category: 0002 Structure Work									
0089	7060001	1	LSUM	\$1,000.00	\$1,000.00	\$500.00	\$500.00	\$250.00	\$250.00
	Bridge Ltg, Furn and Rem								
0090	7060002	103	Cyd	\$3.00	\$309.00	\$0.01	\$1.03	\$1.00	\$103.00
	Bridge Ltg, Oper and Maintain								
0091	7060013	99	Cyd	\$200.00	\$19,800.00	\$0.01	\$0.99	\$0.01	\$0.99
	Conc, Grade T								
0092	7060020	437	Cyd	\$5.00	\$2,185.00	\$0.01	\$4.37	\$0.01	\$4.37
	Conc, Low Temperature Protection								
0093	7060050	32	Ft	\$145.00	\$4,640.00	\$160.00	\$5,120.00	\$170.00	\$5,440.00
	Expansion Joint Device								
0094	7060092	37,841	Lb	\$1.25	\$47,301.25	\$1.30	\$49,193.30	\$1.30	\$49,193.30
	Reinforcement, Steel, Epoxy Coated								
0095	7060100	211	Cyd	\$425.00	\$89,675.00	\$450.00	\$94,950.00	\$425.00	\$89,675.00
	Substructure Conc								
0096	7060110	22	Cyd	\$250.00	\$5,500.00	\$250.00	\$5,500.00	\$300.00	\$6,600.00
	Superstructure Conc								
0097	7060111	1	LSUM	\$10,000.00	\$10,000.00	\$15,000.00	\$15,000.00	\$18,000.00	\$18,000.00
	Superstructure Conc, Form, Finish, and Cure								
0098	7060112	1	LSUM	\$32,400.00	\$32,400.00	\$30,000.00	\$30,000.00	\$45,000.00	\$45,000.00
	Superstructure Conc, Form, Finish, and Cure, Night Casting								
0099	7060113	103	Cyd	\$300.00	\$30,900.00	\$300.00	\$30,900.00	\$300.00	\$30,900.00
	Superstructure Conc, Night Casting								
0100	7067050	1	Ea	\$500.00	\$500.00	\$500.00	\$500.00	\$750.00	\$750.00
	_ Structure Name Plate								
0101	7070018	2,640	Sin	\$1.00	\$2,640.00	\$2.00	\$5,280.00	\$2.00	\$5,280.00
	Bearing, Elastomeric, 2 1/2 inch								
0102	7080061	250	Ft	\$190.00	\$47,500.00	\$300.00	\$75,000.00	\$290.00	\$72,500.00
	Prest Conc Box Beam, Furn, 21 inch								
0103	7080062	250	Ft	\$20.00	\$5,000.00	\$50.00	\$12,500.00	\$20.00	\$5,000.00
	Prest Conc Box Beam, Erect, 21 inch								

Line	Pay Item Code	Quantity	Units	(0) ENGINEER'S ESTIMATE		(1) Miller Development, Inc.		(2) J. E. Kloote Contracting, Inc.	
				Bid Price	Total	Bid Price	Total	Bid Price	Total
Category: 0002 Structure Work									
0104	7100001	403	Sft	\$6.00	\$2,418.00	\$5.00	\$2,015.00	\$5.00	\$2,015.00
	Joint Waterproofing								
0105	7107010	4,019	Sft	\$5.00	\$20,095.00	\$2.25	\$9,042.75	\$3.00	\$12,057.00
	_ Silane Treatment								
0106	7110008	78	Ft	\$120.00	\$9,360.00	\$155.00	\$12,090.00	\$135.00	\$10,530.00
	Bridge Railing, 2 Tube								
0107	8137011	325	Syd	\$60.00	\$19,500.00	\$100.00	\$32,500.00	\$50.00	\$16,250.00
	_ Riprap, Heavy, Modified								
Category 2 Totals:					\$553,291.25		\$555,406.44		\$533,943.16
Bid Totals:					\$1,024,942.75		\$981,626.60		\$982,762.66

Line	Pay Item Code	Quantity	Units	(3) Nashville Construction Company		(4) E.T. MacKenzie Company		(5) Anlaan Corporation	
				Bid Price	Total	Bid Price	Total	Bid Price	Total
Category: 0001 Road Work									
0001	1500001	1	LSUM	\$79,177.03	\$79,177.03	\$93,000.00	\$93,000.00	\$93,000.00	\$93,000.00
	Mobilization, Max								
0002	2017002	12	Sta	\$1,000.00	\$12,000.00	\$585.00	\$7,020.00	\$1,200.00	\$14,400.00
	_ Clearing, Modified								
0003	2030001	4	Ea	\$250.00	\$1,000.00	\$400.00	\$1,600.00	\$750.00	\$3,000.00
	Culv, Rem, Less than 24 inch								
0004	2030015	45	Ft	\$10.00	\$450.00	\$21.20	\$954.00	\$12.00	\$540.00
	Sewer, Rem, Less than 24 inch								
0005	2030016	215	Ft	\$10.00	\$2,150.00	\$2.90	\$623.50	\$20.00	\$4,300.00
	Sewer, Rem, 24 inch to 48 inch								
0006	2040025	195	Ft	\$5.00	\$975.00	\$1.75	\$341.25	\$5.00	\$975.00
	Fence, Rem								
0007	2040080	20	Ft	\$10.00	\$200.00	\$21.00	\$420.00	\$30.00	\$600.00
	Exploratory Investigation, Vertical								
0008	2050010	750	Cyd	\$6.00	\$4,500.00	\$1.85	\$1,387.50	\$12.50	\$9,375.00
	Embankment, CIP								
0009	2050016	2,720	Cyd	\$8.00	\$21,760.00	\$10.30	\$28,016.00	\$11.00	\$29,920.00
	Excavation, Earth								
0010	2080012	110	Ft	\$25.00	\$2,750.00	\$17.80	\$1,958.00	\$25.00	\$2,750.00
	Erosion Control, Check Dam, Stone								
0011	2080020	7	Ea	\$150.00	\$1,050.00	\$130.00	\$910.00	\$100.00	\$700.00
	Erosion Control, Inlet Protection, Fabric Drop								
0012	2080036	2,350	Ft	\$2.00	\$4,700.00	\$2.50	\$5,875.00	\$1.00	\$2,350.00
	Erosion Control, Silt Fence								
0013	3010002	1,436	Cyd	\$15.00	\$21,540.00	\$15.15	\$21,755.40	\$12.50	\$17,950.00
	Subbase, CIP								
0014	3020001	1,461	Ton	\$21.00	\$30,681.00	\$16.80	\$24,544.80	\$18.00	\$26,298.00
	Aggregate Base								
0015	3060006	261	Ton	\$22.00	\$5,742.00	\$17.35	\$4,528.35	\$18.00	\$4,698.00
	Aggregate Surface Cse								

Line	Pay Item Code	Description	Quantity	Units	(3) Nashville Construction Company		(4) E.T. MacKenzie Company		(5) Anlaan Corporation	
					Bid Price	Total	Bid Price	Total	Bid Price	Total
Category: 0001 Road Work										
0016	3070026	Approach, CI II, 4 inch	580	Syd	\$8.00	\$4,640.00	\$7.00	\$4,060.00	\$5.00	\$2,900.00
0017	3070126	Shoulder, CI II, 4 inch	300	Syd	\$10.00	\$3,000.00	\$9.75	\$2,925.00	\$5.00	\$1,500.00
0018	4010012	Culv End Sect, 12 inch	3	Ea	\$200.00	\$600.00	\$715.00	\$2,145.00	\$200.00	\$600.00
0019	4010015	Culv End Sect, 15 inch	2	Ea	\$225.00	\$450.00	\$325.00	\$650.00	\$250.00	\$500.00
0020	4010024	Culv End Sect, 24 inch	3	Ea	\$350.00	\$1,050.00	\$1,100.00	\$3,300.00	\$325.00	\$975.00
0021	4010036	Culv End Sect, 36 inch	1	Ea	\$1,000.00	\$1,000.00	\$2,650.00	\$2,650.00	\$600.00	\$600.00
0022	4010607	Culv, CI F, 12 inch	36	Ft	\$50.00	\$1,800.00	\$38.15	\$1,373.40	\$40.00	\$1,440.00
0023	4010608	Culv, CI F, 15 inch	31	Ft	\$60.00	\$1,860.00	\$39.50	\$1,224.50	\$45.00	\$1,395.00
0024	4010610	Culv, CI F, 24 inch	145	Ft	\$75.00	\$10,875.00	\$52.80	\$7,656.00	\$65.00	\$9,425.00
0025	4020009	Sewer, CI A, 36 inch, Tr Det A	28	Ft	\$130.00	\$3,640.00	\$140.00	\$3,920.00	\$125.00	\$3,500.00
0026	4020033	Sewer, CI A, 12 inch, Tr Det B	521	Ft	\$50.00	\$26,050.00	\$52.10	\$27,144.10	\$60.00	\$31,260.00
0027	4020036	Sewer, CI A, 24 inch, Tr Det B	264	Ft	\$75.00	\$19,800.00	\$73.05	\$19,285.20	\$83.00	\$21,912.00
0028	4020157	Sewer, CI B, 30 inch, Tr Det A	144	Ft	\$75.00	\$10,800.00	\$120.00	\$17,280.00	\$120.00	\$17,280.00
0029	4021230	Sewer Bulkhead, 12 inch	1	Ea	\$200.00	\$200.00	\$130.00	\$130.00	\$300.00	\$300.00
0030	4030035	Dr Structure Cover, Type E	1	Ea	\$500.00	\$500.00	\$620.00	\$620.00	\$750.00	\$750.00

Line	Pay Item Code	Quantity	Units	(3) Nashville Construction Company		(4) E.T. MacKenzie Company		(5) Anlaan Corporation	
				Bid Price	Total	Bid Price	Total	Bid Price	Total
Category: 0001 Road Work									
0031	4030040	4	Ea	\$500.00	\$2,000.00	\$695.00	\$2,780.00	\$900.00	\$3,600.00
	Dr Structure Cover, Type G								
0032	4030050	2	Ea	\$1,000.00	\$2,000.00	\$805.00	\$1,610.00	\$950.00	\$1,900.00
	Dr Structure Cover, Type K								
0033	4030210	5	Ea	\$2,000.00	\$10,000.00	\$2,350.00	\$11,750.00	\$2,300.00	\$11,500.00
	Dr Structure, 48 inch dia								
0034	4030220	1	Ea	\$3,250.00	\$3,250.00	\$3,750.00	\$3,750.00	\$5,000.00	\$5,000.00
	Dr Structure, 60 inch dia								
0035	4030230	1	Ea	\$4,000.00	\$4,000.00	\$4,400.00	\$4,400.00	\$7,000.00	\$7,000.00
	Dr Structure, 72 inch dia								
0036	4030250	2	Ft	\$250.00	\$500.00	\$88.65	\$177.30	\$200.00	\$400.00
	Dr Structure, Add Depth of 48 inch dia, 8 foot to 15 foot								
0037	4030260	7	Ft	\$300.00	\$2,100.00	\$150.00	\$1,050.00	\$275.00	\$1,925.00
	Dr Structure, Add Depth of 60 inch dia, 8 foot to 15 foot								
0038	4030261	2	Ft	\$600.00	\$1,200.00	\$150.00	\$300.00	\$300.00	\$600.00
	Dr Structure, Add Depth of 60 inch dia, more than 15 foot								
0039	4040075	944	Ft	\$10.00	\$9,440.00	\$8.80	\$8,307.20	\$11.50	\$10,856.00
	Underdrain, Subgrade, 8 inch								
0040	4040115	2	Ea	\$250.00	\$500.00	\$395.00	\$790.00	\$200.00	\$400.00
	Underdrain, Outlet Ending, 8 inch								
0041	5010005	76	Syd	\$10.00	\$760.00	\$10.25	\$779.00	\$7.00	\$532.00
	HMA Surface, Rem								
0042	5010033	578	Ton	\$89.84	\$51,927.52	\$86.30	\$49,881.40	\$88.95	\$51,413.10
	HMA, 13A								
0043	5010061	90	Ton	\$124.92	\$11,242.80	\$86.30	\$7,767.00	\$123.68	\$11,131.20
	HMA Approach								
0044	8020016	123	Ft	\$48.48	\$5,963.04	\$54.75	\$6,734.25	\$48.00	\$5,904.00
	Curb and Gutter, Conc, Det B2								
0045	8020040	155	Ft	\$48.48	\$7,514.40	\$44.95	\$6,967.25	\$48.00	\$7,440.00
	Curb and Gutter, Conc, Det F6								

Line	Pay Item Code	Quantity	Units	(3) Nashville Construction Company		(4) E.T. MacKenzie Company		(5) Anlaan Corporation	
				Bid Price	Total	Bid Price	Total	Bid Price	Total
Description									
Category: 0001 Road Work									
0046	8020056	2	Ea	\$656.50	\$1,313.00	\$690.00	\$1,380.00	\$650.00	\$1,300.00
Shoulder Gutter, Conc, Det 2									
0047	8020075	6	Ft	\$65.65	\$393.90	\$205.00	\$1,230.00	\$65.00	\$390.00
Spillway, Conc									
0048	8027001	139	Ft	\$60.60	\$8,423.40	\$84.95	\$11,808.05	\$60.00	\$8,340.00
_ Curb and Gutter, Bridge Approach, Modified									
0049	8050010	229	Ft	\$2.75	\$629.75	\$1.10	\$251.90	\$2.72	\$622.88
Curb Sloped, HMA									
0050	8070044	4	Ea	\$3,000.00	\$12,000.00	\$2,850.00	\$11,400.00	\$2,500.00	\$10,000.00
Guardrail Approach Terminal, Type 2M									
0051	8070080	8	Ea	\$10.00	\$80.00	\$4.90	\$39.20	\$5.00	\$40.00
Guardrail Reflector									
0052	8070095	3	Ea	\$75.00	\$225.00	\$150.00	\$450.00	\$100.00	\$300.00
Post, Mailbox									
0053	8070130	4	Ea	\$2,800.00	\$11,200.00	\$2,100.00	\$8,400.00	\$1,800.00	\$7,200.00
Guardrail Anch, Bridge, Det M1									
0054	8100371	30	Ft	\$10.50	\$315.00	\$10.35	\$310.50	\$8.10	\$243.00
Post, Steel, 3 lb									
0055	8100403	4	Ea	\$45.00	\$180.00	\$44.30	\$177.20	\$45.00	\$180.00
Sign, Type III, Rem									
0056	8100404	9	Sft	\$20.50	\$184.50	\$20.15	\$181.35	\$17.25	\$155.25
Sign, Type IIIA									
0057	8100405	6	Sft	\$20.50	\$123.00	\$20.15	\$120.90	\$17.25	\$103.50
Sign, Type IIIB									
0058	8110231	1,730	Ft	\$0.65	\$1,124.50	\$0.39	\$674.70	\$0.65	\$1,124.50
Pavt Mrkg, Waterborne, 4 inch, White									
0059	8110232	1,730	Ft	\$0.65	\$1,124.50	\$0.39	\$674.70	\$0.65	\$1,124.50
Pavt Mrkg, Waterborne, 4 inch, Yellow									
0060	8110251	1,730	Ft	\$0.35	\$605.50	\$0.30	\$519.00	\$0.35	\$605.50
Pavt Mrkg, Waterborne, 2nd Application, 4 inch, White									

Line	Pay Item Code	Description	Quantity	Units	(3) Nashville Construction Company		(4) E.T. MacKenzie Company		(5) Anlaan Corporation	
					Bid Price	Total	Bid Price	Total	Bid Price	Total
Category: 0001 Road Work										
0061	8110252	Pavt Mrkg, Waterborne, 2nd Application, 4 inch, Yellow	1,730	Ft	\$0.35	\$605.50	\$0.30	\$519.00	\$0.35	\$605.50
0062	8110307	Rem Curing Compound, for Longit Mrkg, 4 inch	416	Ft	\$0.95	\$395.20	\$0.98	\$407.68	\$0.95	\$395.20
0063	8120012	Barricade, Type III, High Intensity, Double Sided, Lighted, Furn	8	Ea	\$187.20	\$1,497.60	\$185.00	\$1,480.00	\$125.50	\$1,004.00
0064	8120013	Barricade, Type III, High Intensity, Double Sided, Lighted, Oper	8	Ea	\$10.40	\$83.20	\$10.25	\$82.00	\$7.50	\$60.00
0065	8120170	Minor Traf Devices	1	LSUM	\$17,000.00	\$17,000.00	\$1,950.00	\$1,950.00	\$10,000.00	\$10,000.00
0066	8120350	Sign, Type B, Temp, Prismatic, Furn	289	Sft	\$5.10	\$1,473.90	\$5.00	\$1,445.00	\$3.75	\$1,083.75
0067	8120351	Sign, Type B, Temp, Prismatic, Oper	289	Sft	\$0.30	\$86.70	\$0.30	\$86.70	\$0.25	\$72.25
0068	8120352	Sign, Type B, Temp, Prismatic, Spec, Furn	25	Sft	\$5.30	\$132.50	\$5.20	\$130.00	\$4.75	\$118.75
0069	8120353	Sign, Type B, Temp, Prismatic, Spec, Oper	25	Sft	\$0.30	\$7.50	\$0.30	\$7.50	\$0.25	\$6.25
0070	8130010	Riprap, Plain	28	Syd	\$60.00	\$1,680.00	\$87.50	\$2,450.00	\$40.00	\$1,120.00
0071	8167011	_ Slope Restoration, Modified	1,840	Syd	\$5.00	\$9,200.00	\$5.15	\$9,476.00	\$5.00	\$9,200.00
Category 1 Totals:						\$457,421.94		\$449,991.78		\$480,189.13
Category: 0002 Structure Work										
0072	2030003	Culv, Rem, Over 48 inch	2	Ea	\$5,000.00	\$10,000.00	\$2,050.00	\$4,100.00	\$32,600.00	\$65,200.00
0073	2040045	Masonry and Conc Structure, Rem	25	Cyd	\$200.00	\$5,000.00	\$225.00	\$5,625.00	\$80.00	\$2,000.00

Line	Pay Item Code	Description	Quantity	Units	(3) Nashville Construction Company		(4) E.T. MacKenzie Company		(5) Anlaan Corporation	
					Bid Price	Total	Bid Price	Total	Bid Price	Total
Category: 0002 Structure Work										
0074	2050015	Excavation, Channel	440	Cyd	\$10.00	\$4,400.00	\$15.85	\$6,974.00	\$15.00	\$6,600.00
0075	2060002	Backfill, Structure, CIP	650	Cyd	\$15.00	\$9,750.00	\$28.60	\$18,590.00	\$20.00	\$13,000.00
0076	2060010	Excavation, Fdn	994	Cyd	\$8.00	\$7,952.00	\$16.80	\$16,699.20	\$16.00	\$15,904.00
0077	2080014	Erosion Control, Filter Bag	2	Ea	\$200.00	\$400.00	\$290.00	\$580.00	\$150.00	\$300.00
0078	2080042	Erosion Control, Turbidity Curtain, Deep	200	Ft	\$0.01	\$2.00	\$1.00	\$200.00	\$1.00	\$200.00
0079	2080044	Erosion Control, Turbidity Curtain, Shallow	200	Ft	\$0.01	\$2.00	\$1.00	\$200.00	\$5.00	\$1,000.00
0080	4040031	Underdrain, Fdn, 4 inch	260	Ft	\$5.00	\$1,300.00	\$2.90	\$754.00	\$5.00	\$1,300.00
0081	4040091	Underdrain Outlet, 4 inch	40	Ft	\$10.00	\$400.00	\$11.00	\$440.00	\$12.00	\$480.00
0082	4040111	Underdrain, Outlet Ending, 4 inch	4	Ea	\$150.00	\$600.00	\$180.00	\$720.00	\$140.00	\$560.00
0083	6020208	Joint, Expansion, E3	32	Ft	\$20.00	\$640.00	\$28.55	\$913.60	\$15.00	\$480.00
0084	7040007	Cofferdams	1	LSUM	\$40,000.00	\$40,000.00	\$45,400.00	\$45,400.00	\$80,000.00	\$80,000.00
0085	7050002	Pile Driving Equipment, Furn	1	LSUM	\$5,000.00	\$5,000.00	\$16,000.00	\$16,000.00	\$100,000.00	\$100,000.00
0086	7050030	Pile, Steel, Furn and Driven, 12 inch	2,350	Ft	\$30.00	\$70,500.00	\$22.00	\$51,700.00	\$10.00	\$23,500.00
0087	7050031	Test Pile, Steel, 12 inch	2	Ea	\$1,000.00	\$2,000.00	\$500.00	\$1,000.00	\$1,000.00	\$2,000.00
0088	7050039	Pile Point, Steel	54	Ea	\$120.00	\$6,480.00	\$99.10	\$5,351.40	\$100.00	\$5,400.00

Line	Pay Item Code	Quantity	Units	(3) Nashville Construction Company		(4) E.T. MacKenzie Company		(5) Anlaan Corporation	
				Bid Price	Total	Bid Price	Total	Bid Price	Total
Category: 0002 Structure Work									
0089	7060001	1	LSUM	\$0.01	\$0.01	\$1,050.00	\$1,050.00	\$500.00	\$500.00
	Bridge Ltg, Furn and Rem								
0090	7060002	103	Cyd	\$0.01	\$1.03	\$4.70	\$484.10	\$0.01	\$1.03
	Bridge Ltg, Oper and Maintain								
0091	7060013	99	Cyd	\$210.00	\$20,790.00	\$205.00	\$20,295.00	\$1.00	\$99.00
	Conc, Grade T								
0092	7060020	437	Cyd	\$3.00	\$1,311.00	\$10.00	\$4,370.00	\$0.01	\$4.37
	Conc, Low Temperature Protection								
0093	7060050	32	Ft	\$180.00	\$5,760.00	\$125.00	\$4,000.00	\$175.00	\$5,600.00
	Expansion Joint Device								
0094	7060092	37,841	Lb	\$1.25	\$47,301.25	\$1.45	\$54,869.45	\$1.40	\$52,977.40
	Reinforcement, Steel, Epoxy Coated								
0095	7060100	211	Cyd	\$350.00	\$73,850.00	\$500.00	\$105,500.00	\$600.00	\$126,600.00
	Substructure Conc								
0096	7060110	22	Cyd	\$300.00	\$6,600.00	\$300.00	\$6,600.00	\$300.00	\$6,600.00
	Superstructure Conc								
0097	7060111	1	LSUM	\$15,000.00	\$15,000.00	\$28,900.00	\$28,900.00	\$30,000.00	\$30,000.00
	Superstructure Conc, Form, Finish, and Cure								
0098	7060112	1	LSUM	\$15,000.00	\$15,000.00	\$35,130.00	\$35,130.00	\$70,000.00	\$70,000.00
	Superstructure Conc, Form, Finish, and Cure, Night Casting								
0099	7060113	103	Cyd	\$250.00	\$25,750.00	\$300.00	\$30,900.00	\$350.00	\$36,050.00
	Superstructure Conc, Night Casting								
0100	7067050	1	Ea	\$1,200.00	\$1,200.00	\$985.00	\$985.00	\$800.00	\$800.00
	_ Structure Name Plate								
0101	7070018	2,640	Sin	\$2.00	\$5,280.00	\$1.95	\$5,148.00	\$0.01	\$26.40
	Bearing, Elastomeric, 2 1/2 inch								
0102	7080061	250	Ft	\$290.00	\$72,500.00	\$270.00	\$67,500.00	\$290.00	\$72,500.00
	Prest Conc Box Beam, Furn, 21 inch								
0103	7080062	250	Ft	\$50.00	\$12,500.00	\$12.00	\$3,000.00	\$30.00	\$7,500.00
	Prest Conc Box Beam, Erect, 21 inch								

Line	Pay Item Code	Quantity	Units	(3) Nashville Construction Company		(4) E.T. MacKenzie Company		(5) Anlaan Corporation	
				Bid Price	Total	Bid Price	Total	Bid Price	Total
Category: 0002 Structure Work									
0104	7100001	403	Sft	\$5.00	\$2,015.00	\$5.25	\$2,115.75	\$4.00	\$1,612.00
	Joint Waterproofing								
0105	7107010	4,019	Sft	\$3.00	\$12,057.00	\$2.70	\$10,851.30	\$2.75	\$11,052.25
	_ Silane Treatment								
0106	7110008	78	Ft	\$180.00	\$14,040.00	\$126.00	\$9,828.00	\$130.00	\$10,140.00
	Bridge Railing, 2 Tube								
0107	8137011	325	Syd	\$130.00	\$42,250.00	\$100.00	\$32,500.00	\$120.00	\$39,000.00
	_ Riprap, Heavy, Modified								
Category 2 Totals:					\$537,631.29		\$599,273.80		\$788,986.45
Bid Totals:					\$995,053.23		\$1,049,265.58		\$1,269,175.58

Line	Pay Item Code	Quantity	Units	(6) Grand River Construction, Inc.					
				Bid Price	Total	Bid Price	Total	Bid Price	Total
Description									
Category: 0001 Road Work									
0001	1500001	1	LSUM	\$93,000.00	\$93,000.00		\$0.00		\$0.00
Mobilization, Max									
0002	2017002	12	Sta	\$500.00	\$6,000.00		\$0.00		\$0.00
_ Clearing, Modified									
0003	2030001	4	Ea	\$400.00	\$1,600.00		\$0.00		\$0.00
Culv, Rem, Less than 24 inch									
0004	2030015	45	Ft	\$8.00	\$360.00		\$0.00		\$0.00
Sewer, Rem, Less than 24 inch									
0005	2030016	215	Ft	\$8.00	\$1,720.00		\$0.00		\$0.00
Sewer, Rem, 24 inch to 48 inch									
0006	2040025	195	Ft	\$2.00	\$390.00		\$0.00		\$0.00
Fence, Rem									
0007	2040080	20	Ft	\$15.00	\$300.00		\$0.00		\$0.00
Exploratory Investigation, Vertical									
0008	2050010	750	Cyd	\$6.00	\$4,500.00		\$0.00		\$0.00
Embankment, CIP									
0009	2050016	2,720	Cyd	\$9.00	\$24,480.00		\$0.00		\$0.00
Excavation, Earth									
0010	2080012	110	Ft	\$30.00	\$3,300.00		\$0.00		\$0.00
Erosion Control, Check Dam, Stone									
0011	2080020	7	Ea	\$150.00	\$1,050.00		\$0.00		\$0.00
Erosion Control, Inlet Protection, Fabric Drop									
0012	2080036	2,350	Ft	\$2.00	\$4,700.00		\$0.00		\$0.00
Erosion Control, Silt Fence									
0013	3010002	1,436	Cyd	\$16.00	\$22,976.00		\$0.00		\$0.00
Subbase, CIP									
0014	3020001	1,461	Ton	\$18.00	\$26,298.00		\$0.00		\$0.00
Aggregate Base									
0015	3060006	261	Ton	\$18.00	\$4,698.00		\$0.00		\$0.00
Aggregate Surface Cse									

Line	Pay Item Code	Description	Quantity	Units	(6) Grand River Construction, Inc.		Bid Price	Total	Bid Price	Total	Bid Price	Total
					Bid Price	Total						
Category: 0001 Road Work												
0016	3070026	Approach, CI II, 4 inch	580	Syd	\$5.30	\$3,074.00			\$0.00			\$0.00
0017	3070126	Shoulder, CI II, 4 inch	300	Syd	\$5.30	\$1,590.00			\$0.00			\$0.00
0018	4010012	Culv End Sect, 12 inch	3	Ea	\$200.00	\$600.00			\$0.00			\$0.00
0019	4010015	Culv End Sect, 15 inch	2	Ea	\$250.00	\$500.00			\$0.00			\$0.00
0020	4010024	Culv End Sect, 24 inch	3	Ea	\$400.00	\$1,200.00			\$0.00			\$0.00
0021	4010036	Culv End Sect, 36 inch	1	Ea	\$830.00	\$830.00			\$0.00			\$0.00
0022	4010607	Culv, CI F, 12 inch	36	Ft	\$35.00	\$1,260.00			\$0.00			\$0.00
0023	4010608	Culv, CI F, 15 inch	31	Ft	\$40.00	\$1,240.00			\$0.00			\$0.00
0024	4010610	Culv, CI F, 24 inch	145	Ft	\$45.00	\$6,525.00			\$0.00			\$0.00
0025	4020009	Sewer, CI A, 36 inch, Tr Det A	28	Ft	\$67.00	\$1,876.00			\$0.00			\$0.00
0026	4020033	Sewer, CI A, 12 inch, Tr Det B	521	Ft	\$42.00	\$21,882.00			\$0.00			\$0.00
0027	4020036	Sewer, CI A, 24 inch, Tr Det B	264	Ft	\$53.00	\$13,992.00			\$0.00			\$0.00
0028	4020157	Sewer, CI B, 30 inch, Tr Det A	144	Ft	\$67.00	\$9,648.00			\$0.00			\$0.00
0029	4021230	Sewer Bulkhead, 12 inch	1	Ea	\$200.00	\$200.00			\$0.00			\$0.00
0030	4030035	Dr Structure Cover, Type E	1	Ea	\$500.00	\$500.00			\$0.00			\$0.00

Line	Pay Item Code	Quantity	Units	(6) Grand River Construction, Inc.					
				Bid Price	Total	Bid Price	Total	Bid Price	Total
Description									
Category: 0001 Road Work									
0031	4030040	4	Ea	\$700.00	\$2,800.00		\$0.00		\$0.00
Dr Structure Cover, Type G									
0032	4030050	2	Ea	\$800.00	\$1,600.00		\$0.00		\$0.00
Dr Structure Cover, Type K									
0033	4030210	5	Ea	\$1,800.00	\$9,000.00		\$0.00		\$0.00
Dr Structure, 48 inch dia									
0034	4030220	1	Ea	\$4,000.00	\$4,000.00		\$0.00		\$0.00
Dr Structure, 60 inch dia									
0035	4030230	1	Ea	\$6,000.00	\$6,000.00		\$0.00		\$0.00
Dr Structure, 72 inch dia									
0036	4030250	2	Ft	\$300.00	\$600.00		\$0.00		\$0.00
Dr Structure, Add Depth of 48 inch dia, 8 foot to 15 foot									
0037	4030260	7	Ft	\$300.00	\$2,100.00		\$0.00		\$0.00
Dr Structure, Add Depth of 60 inch dia, 8 foot to 15 foot									
0038	4030261	2	Ft	\$800.00	\$1,600.00		\$0.00		\$0.00
Dr Structure, Add Depth of 60 inch dia, more than 15 foot									
0039	4040075	944	Ft	\$9.71	\$9,166.24		\$0.00		\$0.00
Underdrain, Subgrade, 8 inch									
0040	4040115	2	Ea	\$200.00	\$400.00		\$0.00		\$0.00
Underdrain, Outlet Ending, 8 inch									
0041	5010005	76	Syd	\$15.00	\$1,140.00		\$0.00		\$0.00
HMA Surface, Rem									
0042	5010033	578	Ton	\$88.95	\$51,413.10		\$0.00		\$0.00
HMA, 13A									
0043	5010061	90	Ton	\$123.68	\$11,131.20		\$0.00		\$0.00
HMA Approach									
0044	8020016	123	Ft	\$26.00	\$3,198.00		\$0.00		\$0.00
Curb and Gutter, Conc, Det B2									
0045	8020040	155	Ft	\$26.00	\$4,030.00		\$0.00		\$0.00
Curb and Gutter, Conc, Det F6									

Line	Pay Item Code	Quantity	Units	(6) Grand River Construction, Inc.					
				Bid Price	Total	Bid Price	Total	Bid Price	Total
Description									
Category: 0001 Road Work									
0046	8020056	2	Ea	\$500.00	\$1,000.00		\$0.00		\$0.00
Shoulder Gutter, Conc, Det 2									
0047	8020075	6	Ft	\$100.00	\$600.00		\$0.00		\$0.00
Spillway, Conc									
0048	8027001	139	Ft	\$40.00	\$5,560.00		\$0.00		\$0.00
_ Curb and Gutter, Bridge Approach, Modified									
0049	8050010	229	Ft	\$2.72	\$622.88		\$0.00		\$0.00
Curb Sloped, HMA									
0050	8070044	4	Ea	\$2,500.00	\$10,000.00		\$0.00		\$0.00
Guardrail Approach Terminal, Type 2M									
0051	8070080	8	Ea	\$5.00	\$40.00		\$0.00		\$0.00
Guardrail Reflector									
0052	8070095	3	Ea	\$150.00	\$450.00		\$0.00		\$0.00
Post, Mailbox									
0053	8070130	4	Ea	\$1,800.00	\$7,200.00		\$0.00		\$0.00
Guardrail Anch, Bridge, Det M1									
0054	8100371	30	Ft	\$8.10	\$243.00		\$0.00		\$0.00
Post, Steel, 3 lb									
0055	8100403	4	Ea	\$45.00	\$180.00		\$0.00		\$0.00
Sign, Type III, Rem									
0056	8100404	9	Sft	\$17.25	\$155.25		\$0.00		\$0.00
Sign, Type IIIA									
0057	8100405	6	Sft	\$17.25	\$103.50		\$0.00		\$0.00
Sign, Type IIIB									
0058	8110231	1,730	Ft	\$0.40	\$692.00		\$0.00		\$0.00
Pavt Mrkg, Waterborne, 4 inch, White									
0059	8110232	1,730	Ft	\$0.40	\$692.00		\$0.00		\$0.00
Pavt Mrkg, Waterborne, 4 inch, Yellow									
0060	8110251	1,730	Ft	\$0.30	\$519.00		\$0.00		\$0.00
Pavt Mrkg, Waterborne, 2nd Application, 4 inch, White									

Line	Pay Item Code	Quantity	Units	(6) Grand River Construction, Inc.					
				Bid Price	Total	Bid Price	Total	Bid Price	Total
Description									
Category: 0001 Road Work									
0061	8110252	1,730	Ft	\$0.30	\$519.00		\$0.00		\$0.00
Pavt Mrkg, Waterborne, 2nd Application, 4 inch, Yellow									
0062	8110307	416	Ft	\$1.00	\$416.00		\$0.00		\$0.00
Rem Curing Compound, for Longit Mrkg, 4 inch									
0063	8120012	8	Ea	\$125.50	\$1,004.00		\$0.00		\$0.00
Barricade, Type III, High Intensity, Double Sided, Lighted, Furn									
0064	8120013	8	Ea	\$7.50	\$60.00		\$0.00		\$0.00
Barricade, Type III, High Intensity, Double Sided, Lighted, Oper									
0065	8120170	1	LSUM	\$54,473.25	\$54,473.25		\$0.00		\$0.00
Minor Traf Devices									
0066	8120350	289	Sft	\$3.75	\$1,083.75		\$0.00		\$0.00
Sign, Type B, Temp, Prismatic, Furn									
0067	8120351	289	Sft	\$0.25	\$72.25		\$0.00		\$0.00
Sign, Type B, Temp, Prismatic, Oper									
0068	8120352	25	Sft	\$4.75	\$118.75		\$0.00		\$0.00
Sign, Type B, Temp, Prismatic, Spec, Furn									
0069	8120353	25	Sft	\$0.25	\$6.25		\$0.00		\$0.00
Sign, Type B, Temp, Prismatic, Spec, Oper									
0070	8130010	28	Syd	\$100.00	\$2,800.00		\$0.00		\$0.00
Riprap, Plain									
0071	8167011	1,840	Syd	\$3.70	\$6,808.00		\$0.00		\$0.00
_ Slope Restoration, Modified									
Category 1 Totals:				\$463,886.42					
Category: 0002 Structure Work									
0072	2030003	2	Ea	\$34,400.00	\$68,800.00		\$0.00		\$0.00
Culv, Rem, Over 48 inch									
0073	2040045	25	Cyd	\$75.00	\$1,875.00		\$0.00		\$0.00
Masonry and Conc Structure, Rem									

Line	Pay Item Code	Quantity	Units	(6) Grand River Construction, Inc.		Bid Price	Total	Bid Price	Total	Bid Price	Total
				Bid Price	Total						
Category: 0002 Structure Work											
0074	2050015	440	Cyd	\$16.00	\$7,040.00			\$0.00		\$0.00	
	Excavation, Channel										
0075	2060002	650	Cyd	\$19.00	\$12,350.00			\$0.00		\$0.00	
	Backfill, Structure, CIP										
0076	2060010	994	Cyd	\$14.00	\$13,916.00			\$0.00		\$0.00	
	Excavation, Fdn										
0077	2080014	2	Ea	\$300.00	\$600.00			\$0.00		\$0.00	
	Erosion Control, Filter Bag										
0078	2080042	200	Ft	\$19.00	\$3,800.00			\$0.00		\$0.00	
	Erosion Control, Turbidity Curtain, Deep										
0079	2080044	200	Ft	\$8.00	\$1,600.00			\$0.00		\$0.00	
	Erosion Control, Turbidity Curtain, Shallow										
0080	4040031	260	Ft	\$2.80	\$728.00			\$0.00		\$0.00	
	Underdrain, Fdn, 4 inch										
0081	4040091	40	Ft	\$5.60	\$224.00			\$0.00		\$0.00	
	Underdrain Outlet, 4 inch										
0082	4040111	4	Ea	\$93.00	\$372.00			\$0.00		\$0.00	
	Underdrain, Outlet Ending, 4 inch										
0083	6020208	32	Ft	\$23.00	\$736.00			\$0.00		\$0.00	
	Joint, Expansion, E3										
0084	7040007	1	LSUM	\$126,800.00	\$126,800.00			\$0.00		\$0.00	
	Cofferdams										
0085	7050002	1	LSUM	\$66,500.00	\$66,500.00			\$0.00		\$0.00	
	Pile Driving Equipment, Furn										
0086	7050030	2,350	Ft	\$25.00	\$58,750.00			\$0.00		\$0.00	
	Pile, Steel, Furn and Driven, 12 inch										
0087	7050031	2	Ea	\$1,900.00	\$3,800.00			\$0.00		\$0.00	
	Test Pile, Steel, 12 inch										
0088	7050039	54	Ea	\$100.00	\$5,400.00			\$0.00		\$0.00	
	Pile Point, Steel										

Line	Pay Item Code	Description	Quantity	Units	(6) Grand River Construction, Inc.		Bid Price	Total	Bid Price	Total	Bid Price	Total
					Bid Price	Total						
Category: 0002 Structure Work												
0089	7060001	Bridge Ltg, Furn and Rem	1	LSUM		\$0.01	\$0.01			\$0.00		\$0.00
0090	7060002	Bridge Ltg, Oper and Maintain	103	Cyd		\$0.01	\$1.03			\$0.00		\$0.00
0091	7060013	Conc, Grade T	99	Cyd		\$160.00	\$15,840.00			\$0.00		\$0.00
0092	7060020	Conc, Low Temperature Protection	437	Cyd		\$0.01	\$4.37			\$0.00		\$0.00
0093	7060050	Expansion Joint Device	32	Ft		\$150.00	\$4,800.00			\$0.00		\$0.00
0094	7060092	Reinforcement, Steel, Epoxy Coated	37,841	Lb		\$1.25	\$47,301.25			\$0.00		\$0.00
0095	7060100	Substructure Conc	211	Cyd		\$401.00	\$84,611.00			\$0.00		\$0.00
0096	7060110	Superstructure Conc	22	Cyd		\$155.00	\$3,410.00			\$0.00		\$0.00
0097	7060111	Superstructure Conc, Form, Finish, and Cure	1	LSUM		\$46,100.00	\$46,100.00			\$0.00		\$0.00
0098	7060112	Superstructure Conc, Form, Finish, and Cure, Night Casting	1	LSUM		\$92,200.00	\$92,200.00			\$0.00		\$0.00
0099	7060113	Superstructure Conc, Night Casting	103	Cyd		\$209.00	\$21,527.00			\$0.00		\$0.00
0100	7067050	_ Structure Name Plate	1	Ea		\$1,280.00	\$1,280.00			\$0.00		\$0.00
0101	7070018	Bearing, Elastomeric, 2 1/2 inch	2,640	Sin		\$2.12	\$5,596.80			\$0.00		\$0.00
0102	7080061	Prest Conc Box Beam, Furn, 21 inch	250	Ft		\$290.00	\$72,500.00			\$0.00		\$0.00
0103	7080062	Prest Conc Box Beam, Erect, 21 inch	250	Ft		\$12.30	\$3,075.00			\$0.00		\$0.00

Line	Pay Item Code	Quantity	Units	(6) Grand River Construction, Inc.		Bid Price	Total	Bid Price	Total	Bid Price	Total
				Bid Price	Total						
Category: 0002 Structure Work											
0104	7100001	403	Sft	\$4.00	\$1,612.00			\$0.00		\$0.00	
	Joint Waterproofing										
0105	7107010	4,019	Sft	\$2.75	\$11,052.25			\$0.00		\$0.00	
	_ Silane Treatment										
0106	7110008	78	Ft	\$150.00	\$11,700.00			\$0.00		\$0.00	
	Bridge Railing, 2 Tube										
0107	8137011	325	Syd	\$137.00	\$44,525.00			\$0.00		\$0.00	
	_ Riprap, Heavy, Modified										
Category 2 Totals:					\$840,426.71						
Bid Totals:					\$1,304,313.13						